
FIRST TEAM SPORTS, INC. 
FreeKick Backyard 

Soccer Goal 

(rev. 03/15/2018) 

 
 
 

 
 
 
 
 
 
 
 

Bill Of Materials 
 

(2) Upright (16) Klip-It Net Fasteners 
(1) Crossbar (2) 3/8” x 1 ¼” Hex Bolt 
(2) Upper Brace (2) 3/8” x 2 ½” Hex Bolt 
(2) Lower Brace (16) 3/8” Flat washer 
(2) Backstay (16) 3/8” Lock washer 
(1) Net (16) 3/8” Hex Nut 
(2) 3/8”x 1” Cotterless Pin (12) 3/8” x 1” Carriage Bolt 
(6) 3/16” x 8” Cable Tie  

 
Cross-check items with Bill of Materials. Report any shortages to First Team customer service 
immediately, 1-888-884-6677 



1. Remove all FreeKick components from box. 
 

2.   Lay Crossbar face down on a working surface. 
 

FREEKICK GOAL STRUCTURE HAS “KEYHOLE” SHAPED HOLES CUT INTO IT. THIS 
ALLOWS YOU TO LOOSELY ATTACH THE CARRIAGE BOLTS TO THE UPPER AND 

LOWER BRACES FIRST, THEN SLIDE THE BOLT HEADS INTO OTHE KEYHOLE SLOTS 
FOR EASY TIGHTENING. THE HEAD OF THE CARRIAGE BOLT SHOULD BE ON THE 

INSIDE OF THE SOCCER RECTANGULAR TUBING, WHILE THE FLATWASHERS, 
LOCKWASHERS AND HEX NUTS ARE ON THE OUTSIDE. FOLLOW THIS PROCEDURE 

THROUGOUT STEPS 3 AND 4. 
 
3.   Attach Upper Brace to Crossbar using (2) 3/8”x 1” Carriage Bolts, Flat washers, Lock 

washers and Hex Nuts as shown in Figure A. Repeat for opposite side of Crossbar. 
 
4.   Attach Uprights to Upper Brace as shown in Figure A using (2) 3/8” x 1” Carriage Bolts, 

Flat washers, Lock washers and Hex Nuts. 
 
5.   Attach Lower Brace to bottom of Uprights using (2) 3/8”x 1” Carriage Bolts, Flat washers, 

Lock washers and Hex Nuts. 
 
6.   Next, attach the top of each Backstay to the Upper Brace as shown in Figure A using (1) 3/8” 

x 1 ¼” Hex Bolt, Flat washer, Lock washer and Hex Nut. NOTE: There are two holes in the 
top of the Backstay attachment tab and two holes in the Upper Brace attachment tab. Secure 
the Backstay to the Upper Brace using the hole furthest back. The holes closest to the front 
will be used for the 3/8” pin later during assembly. IF YOU BOLT UNIT USING THE 
WRONG HOLE, UNIT WILL NOT FOLD PROPERLY FOR STORAGE! (See FIGURE A) 

 

7.   Attach the bottom of each Backstay to the Lower Brace as shown in Figure A using (1) 3/8” x 
2 ½” Hex Bolt, Flat washer, Lock washer and Hex Nut. 
 

8.   Secure both Backstays into their playing position by inserting (1) 3/8”x 1” Cotterless pin into 
the securing hole on the top of both Upper Braces. (See Figure A) 
 

9.   Next, take notice of the pre-drilled ¼” holes located on the backside of uprights, crossbar and 
bottom portion of backstays. These holes are provided for attachment of First Team’s Klip- 

It net fasteners. 
 
10. Remove Klip-It net fasteners from hardware pack. Push one clip into each of the ¼” holes on 

the backside of Uprights and Crossbar as shown in Figure A making certain to orient the clips 
so the attachment rope on the net will feed through the clip properly. 

11. Next, push the remaining clips into the ¼” holes provided on the lower portion of the 
Backstays as shown in Figure A.  Remember to be certain clips are oriented properly for net 
attachment. 

 
12. Release each clip on soccer goal. 
 
13. Stand FreeKick into an upright position. 
 
14. Drape net over goal from back of unit. Net will rest on TOP of the backstays. When you are 

satisfied with net position, fasten net to goal using Klip-It net fasteners.  For additional net 
security, (6) 3/16”x8” cable ties have been provided for use along the bottom of the 
backstay. 

 
FOR STORAGE: Simply remove both 3/8” securing pins, fold backstays inward and stow. It is 
best to replace storage pins into securing holes during storage to prevent loss. You do not need 
to remove net for storage. 

 
Assembly of your FREEKICK soccer goal is complete. 

 

 


